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A rope exerts of force of 550 N at an angle of 210° and a second rope exerts a force of 698 N at an angle of
295°. (a) Draw a coordinate system with the forces and angles drawn to approximate scare. (b) Add the vectors
using the component method. (This is the method I showed several times on the board and posted on the
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A rope exerts of force of 475 N at an angle of 208° and a second rope exerts a force of 595 N at an angle of

305°. (a) Draw a coordinate system with the forces and angles drawn to approximate scare. (b) Add the vectors
using the component method. (This is the method I showed several times on the board and posted on the
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A rope exerts of force of 650 N at an angle of 195° and a second rope exerts a force of 808 N at an angle of
285°. (a) Draw a coordinate system with the forces and angles drawn to approximate scare. (b) Add the vectors
using the component method. (This is the method I showed several times on the board and posted on the
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